Sign up form used to get student volunteers





Questions Responses 🚯 Settings	
Educon Sign up Forms B I U I I III Educon Shift Descriptions Email * Valid email	 ⊕ □ □ □ □
This form is collecting emails. Change settings What is your name?* Short answer text	
What grade are you in? *	0

Schedule of student volunteers

Day & shift	Saturday morning (8:30-12 am)	Saturday afternoon (12-3 pm)	Saturday night (3-6 pm)	Sunday morning (8:30am- 12 pm)	Sunday afternoon (12-3 pm)	Sunday night (3-6 pm)
Snack table	Luan	Jovan	Tahseen	Titus Jenkins & Diyu Liu	Victoria Jiang & Jacqueline Valenzo-Ca stro	Aviva Boix & Ezra
Coffee	Cianney	Marisa & Grace Greer		Fiona Shi	Reese & Eliza	Reese & Eliza
Babysitter	Nora F & Noah C	Maya Igarashi & Noah C	Noah C	Reese & Eliza	willa hollerbush	willa hollerbush & Jake Rosenbach
Coatroom manager	Dylan Parchman	Dylan Parchman	Dylan Parchman	Tiff Zhang & Madison George		
Edu-conci erge		Pepper Jaffe				

EduCon website with the various sessions

Epucon	EduCon ²⁰ January 31st-Feb	EduCon ²⁰²⁵ January 31st–February 2nd, 2025 at The Science Leadership Academy					Search	
)Ų_	What is EduCon?	Register	Conversations	Who's Coming?	Meetups	EduConcierge		

Conversations

During each of the six breakout sessions throughout the weekend, a large number of conversations will take place. This site will help you organize your plan for the weekend and provide the relevant information for each conversation. After signing in, search through the conversations below and mark the sessions you are interested in to populate your personal schedule on the right (or below if on your mobile phone).

Search	By Location
Title, presenter, or description	Any
Du Sassian	
By Session	
SESSION SESSION SESSION S	ESSION SESSION

A Better Justice



My students created a student run Youth Court that deals with disciplinary issues in the building and resolves them through Restorative Justice.

Sign up for the EduCon Newsletter to receive updates about the conference!

Schedule

Log in to create a personalized schedule.



4

List of people who applied to present at EduCon

く 5 6 命 5	100% - \$ % .000 123 De	faul ▼ − 10) + B I ÷ A ♦. ⊞ 53 ▼ Ξ ▼	± • H • A • G		Σ
✓ fx Name					
▶ B	D 4	▶ F	G	н	1
Name	Name of session(s)	Scheduling Issues As we make the schedule, is there anything that we need to know with re			
Andrew Coy	Educators as Advocates and Policymakers	I have obligations on Sunday so would prefer being scheduled for a session on Saturday if at all possible.			
Barbie Garayua Tudryn 8	Bearing Witness: Releasing harm, reasserting our power & reclaiming our excellence through purpose-affirming & Geet self-care	For health reasons, one of us in unable to present VERY early in the morning. Other than that, we're pretty flexible.			
Jennifer Gunn	What School Looks Like for Future-Ready Teens: Paradigm Shifts for Career + Life Success	Saturday would be best as one of our presenters has to fly to the west coast Sunday. Thank you!			
jessica solomon	Science and the Ecospiritual Movement	I will likely need to head out on Saturday evening, so if I can present as early in the day as possible I would appreciate it. (This will also let me enjoy the other workshops; the later in the day I present, the more anxious I will be in the hours beforeI)			
Jodi Bornstein	Circle of Power & Respect: Changing Classroom Culture	Saturday is the best day for our team of presenters if possibleThank you for considering.			
Lindsay Kelland	Interdisciplinary Connections- Signature Projects	We have one team member that has to leave Saturday night so if we could go anytime Saturday that would be great. We also are changing a member out of our group (Emma Parsons will be someone else, name TBD but will let you know asap!)			
Michael Franklin	Meaningful Making With Middle Schoolers (Year 2)	Please don't put us at the same time as Mr. Kamal			
Michelle Van Lare	The Benefits and Challenges of Dual-enrollment	I will not be able to be there until Friday late afternoon.			
	It's time for Mid-21st Century technology in schools	If you can schedule both our sessions on Saturday that would be fabulous!!!!			

List of supplies needed for EduCon

chart paper post-it, 4 ct	3	\$84.00	\$252.00	https://smile.ama
Tissue paper - Blue (Gift bags)	1	\$41.99	\$41.99	https://www.ama
Tissue paper - Silver (Gift bags)	1	\$51.99	\$51.99	https://www.ama
masking tape 1"x180' 6 ct	1	\$15.49	\$15.49	https://www.ama
name badge paper 2.25"x3.5" 400ct	2	\$12.49	\$24.98	https://www.ama
Equal Sugar Substitute packets 500 ct	1	\$11.95	\$11.95	https://www.ama
Domino Sugar Packets 500 ct	2	\$13.28	\$26.56	https://www.ama
Paper Towels Bulk 30 ct	1	\$43.39	\$43.39	https://www.ama
Silver Sharpie 12 ct	1	\$13.88	\$13.88	https://smile.ama
Plastic Serving Tongs pack of 12	1	16.49	\$16.49	https://www.ama
Plastic Cups (cold liquid) 300 ct	2	\$17.99	\$35.98	https://www.ama
Serving Trays 15"x20"	2	20.99	\$41.98	https://www.ama
			\$0.00	
			\$0.00	
		TOTAL	\$576.68	

Various pictures from the conference















